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import java.awt.x*;
import java.applet.*;
import java.awt.event.x*;
import java.util.x*;

import java.applet.Applet;

public class subyukimi extends Applet
implements ActionListener {

TextField sf,ss,os,tnm,tnn;
Button bl = new Button("ttt");
Color testl,test2,test3;

double idou,idoun;

public void init() {

add( new Label("SourceFrequency", Label.RIGHT) );
sf = new TextField( "", 10); add( sf );

add( new Label("Sourcespd", Label.CENTER) ) ;

ss = new TextField( "", 10); add( ss );

add( new Label("Originspd", Label.CENTER) ) ;

os = new TextField( "", 10); add( os );

add( new Label("kekka", Label.CENTER) ) ;
tnm = new TextField( "", 10); add( tnm );

os.addActionListener (this);

add( new Label("kekka", Label.CENTER) ) ;
tnn = new TextField( "", 10); add( tnn );

os.addActionListener(this);

setBackground(Color.white) ;
bl.setBackground(Color.white);
bl.setForeground(Color.black) ;
bl.addActionlListener(this);
add(bl);
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public void paint(Graphics g) {
g.drawRect (75,75,125,100) ;

if (testl !=null){
g.setColor(testl);
g.fillRect(75,75,125,100);

}elsed{

g.setColor(Color.black) ;

g.drawRect (75,75,125,100) ;

}

g.drawRect (210,75,125,100) ;
if (test2 !=null){
g.setColor(test2);
g.fillRect(210,75,125,100);
Yelse{
g.setColor(Color.black);
g.drawRect (210,75,125,100) ;
}

g.drawRect (345,75,125,100) ;
if (test3 !=null){
g.setColor(test3);
g.fillRect(345,75,125,100);
Yelse{
g.setColor(Color.black);
g.drawRect (345,75,125,100) ;
}

//from coco
Color col[] = new Color [312];

int c = 0;

for(int i=0;i < 52;i++){

coll[i] = new Color(255-i%*5 ,0 ,255) ;
col[i+52] = new Color(i*2 ,1%2 ,255);
col[i+104] = new Color(102-ix*2 ,100+1i%3,255-i%5) ;
col[i+156] = new Color(ix*5 ,255 ,0);
col[i+208] = new Color(255,255-1 ,0);
col[i+260] = new Color (255 ,204-i%x4 ,0);
}
int cl;
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for(c=0;c<312;c++){
cl=c+15;

if (c1>=312){
cl-=312;

}

}

int 1i;
for(i=0;i<312;i++){

cl =c + i;

if(cl >= 312){
cl -= 312;
}
g.setColor(collcll);
g.drawLine (350+i+(int)idou,200 ,350+i+(int)idou ,250);

g.setColor(Color.red);

g.fillRect (350+i+(int)idou,200 ,50 ,51);
g.setColor(Color.black);
g.drawLine(350,180,350,270) ;
g.dravLine (712,180,712,270);

//nuton
Color coln[] = new Color [312];
int d = 0;

for( int j=0;j < 52;j++){

coln[j] = new Color(255-j*5 ,0 ,255) ;
coln[j+562] = new Color(j*2 ,j*2 ,255) ;
coln[j+104] = new Color(102-j*2 ,100+j*3,255-j*5) ;
coln[j+156] = new Color(j*5 ,255 ,0);
coln[j+208] = new Color(255,255-j ,0);
coln[j+260] = new Color(255 ,204-j%4 ,0);
}
cl=0;
for(d=0;d<312;d++){
cl=d+15;
if (c1>=312){
cl-=312;
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}
int j;
for(j=0;j<312;j++){
cl =d + j;

if(cl >= 312){
cl -= 312;
}
g.setColor(coln[cl]);
g.drawLine (350+j+(int)idoun,300 ,350+j+(int)idoun ,350);

g.setColor(Color.red);

g.fillRect (350+j+(int)idoun,300 ,50 ,51);
g.setColor(Color.black);
g.drawLine(350,280,350,370) ;
g.drawLine(712,280,712,370);

public void actionPerformed(ActionEvent e) {
double sfl=Double.parseDouble(sf.getText());
double ssl=Double.parseDouble(ss.getText());
double osl=Double.parseDouble(os.getText());
double v=ssl+osi;

double he=(1.0-v)/(1.0+v);

double fn=sfi1*x((1.0-0s1)/(1.0-ss1));
double ff=sfixMath.sqrt((1.0-v)/(1.0+v));
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idou=ff-sfl;

idoun=fn-sf1i;
tnm.setText ("SR"+£f) ;
tnn.setText ("N"+fn) ;

if (430.0<=sf1 && sf1<490.0){
testl=new Color(255,0,0);

}else if(490.0<=sf1 && sf1<510.0){
testl=new Color(255,200,0);

}else if(510.0<=sf1 && s£f1<530.0){
testl=new Color(255,255,0);

}else if(530.0<=sf1 && sf1<600.0){
testl=new Color(0,255,0);

}else if(600.0<=sf1 && sf1<670.0){
testl=new Color(100,100,255);

}Yelse if(670.0<=sf1l && sf1<700.0){
testl=new Color(0,0,255);

}else if(700.0<=sf1 && sf1<750.0){
testl=new Color(255,0,255);

} else{

testl = null;

}

if( 430.0<=ff && ££<490.0){
test2=new Color(255,0,0);

Yelse if(490.0<=ff && ££<510.0){
test2=new Color(255,200,0);

}else if(510.0<=ff && ££<530.0){
test2=new Color(255,255,0);

}else if(530.0<=ff && ££<600.0){
test2=new Color(0,255,0);

Yelse if(600.0<=ff && ££<670.0){
test2=new Color(100,100,255);

}else if(670.0<=ff && ££<700.0){
test2=new Color(0,0,255);

}else if(700.0<=ff && ££<750.0 ){
test2=new Color(255,0,255);

} else{

test2 = null;

}

if( 430.0<=fn && £fn<490.0){
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test3=new Color(255,0,0);

}else if(490.0<=fn && fn<510.0){
test3=new Color(255,200,0);

}else if(510.0<=fn && fn<530.0){
test3=new Color(255,255,0);

Yelse if(530.0<=fn && fn<600.0){
test3=new Color(0,255,0);

}else if(600.0<=fn && fn<670.0){
test3=new Color(100,100,255);

}else if(670.0<=fn && fn<700.0){
test3=new Color(0,0,255);

}else if(700.0<=fn && fn<750.0 ){
test3=new Color(255,0,255);

} elsed{

test3 = null;

}

repaint () ;

\\
gobooboooobooooo
import java.awt.x*;

import java.applet.*;
import java.awt.event.x*;

import java.util.x*;

public class side7kai extends Applet

implements ActionListener {
TextField sf,ss,os,ka,tnm;
Button bl = new Button("ttt");

Color testl,test2,test3,test4;

double ff,f1,f2,f3,f4,sf1,ss1,0s81,v;
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public void init() {

add( new Label("SourceFrequency", Label.RIGHT) );
sf = new TextField( "", 10); add( sf );
sf.addActionListener(this);

add( new Label("Sourcespd", Label.CENTER) ) ;

ss = new TextField( "", 10); add( ss );
ss.addActionListener(this);

add( new Label("Originspd", Label.CENTER) ) ;

os = new TextField( "", 10); add( os );
os.addActionListener(this);

setBackground(Color.white) ;
bl.setBackground(Color.white) ;
bl.setForeground(Color.black) ;
bl.addActionlListener (this);
add(b1);

public void paint(Graphics g){
Color col[] = new Color [312];

int c = 0;

for(int i=0;i < 52;i++){

coll[i] = new Color(255-i%*5 ,0 ,255) ;
col[i+52] = new Color(i*2 ,1%2 ,255);
col[i+104] = new Color(102-ix*2 ,100+i%3,255-i%5) ;
col[i+156] = new Color(ix*5 ,255 ,0);
col[i+208] = new Color(255,255-1 ,0);

col[i+260] = new Color (255 ,204-i%x4 ,0);
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int cl;
for(c=0;c<312;c++){
cl=c+15;

if (c1>=312){
cl-=312;

}

}

for(int 9=90;9>0;9--)1
double ff=sfil*( Math.sqrt(1.0-(vxv)) /(1.0-(vx(Math.cos((Math.PI/180)*q))) ));
c1=742-(int) ff;

if (0<=cl && c1<311){
g.setColor(col[cl]);
g.£i110val (200-(q*2) ,200-(q*2) , (q*2) *2, (q*2)*2) ;

}else{
g.setColor(Color.white);
g.f1110val (200-(g*2),200-(q*2), (g*2)*2, (q*2) *2) ;

g.setColor(Color.black) ;
g.drawLine (200,0,200,400) ;
g.drawLine(0,200,400,200) ;
g.draw0Oval (20,20,360,360) ;
g.draw0Oval(80,80,240,240) ;
g.drawOval(140,140,120,120);
g.drawOval(185,185,30,30);

g.drawString("30",250,220);
g.drawString("60",310,230);
g.drawString("90",370,240);
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public void actionPerformed(ActionEvent e) {
sf1=Double.parseDouble(sf.getText());
ss1=Double.parseDouble(ss.getText());
os1=Double.parseDouble(os.getText());

v=ssl-osi;

double fi=sfix( Math.sqrt(1.0-(v*xv)) /(1.0-(vk(Math.cos((Math.PI/180)*30))) ));

if (430.0<=f1 && £1<490.0){
testl=new Color(255,0,0);
Yelse if(490.0<=f1 && £1<510.0){
testl=new Color(255,200,0);
Yelse if(510.0<=f1 && £1<530.0){
testl=new Color(255,255,0);
}else if(530.0<=f1 && £1<600.0){
testl=new Color(0,255,0);
Yelse if(600.0<=f1 && £1<670.0){
testl=new Color(100,100,255);
Yelse if(670.0<=f1 && £1<700.0){
testl=new Color(0,0,255);
}else if(700.0<=f1 && £1<750.0){
testl=new Color(255,0,255);
} elseq
testl = null;
}

repaint () ;

O00o0o0o0oooon
class zeek{

public static void main(String[] args){
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double sf1=520,v=0.5;

for(int q = 1; g < 90;9++){
double ff=sfi1*( Math.sqrt(1.0-(v*v)) /(1.0-(v¥(Math.cos((Math.PI/180)*q))) ));
int cl1=742-(int)ff;

//double ff=sfil*( Math.sqrt(1.0-(v*v)) /(1.0-(vk(Math.cos(i))) ));
//System.out.println(i+ " : "+ff);
System.out.println(q+":"+cl+"--ff;"+ff+"---cos;"+Math.cos((Math.PI/180)*q)) ;

oo
(1] 0000000000000000000000000000 (1996)

2 0000000000000 000O0OUOO0O0OOOOOO (1996)
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